u=ilts

&

W



oAl =0| ERst AE(FE 2

AU Aoz
HO|AE S SNSE 0183 A%0| £8 WaiFD
£ TH(OKDE e BYFYLZ YY)

@ ™
HOJAS miAIK, ASTRF 2|2 ol2xiz}
2= 58 S (HSEEE sl & sl= Az

24|, Xzt § 4 % IS £ t=
-5 27)




MIE

OH
ol

Mo

CHe| &




ZlZAR |

=ME E|Z H1% HIZ0] S §101 H|%2 O]x}
(102H= 132 La|=cl ofx} 32HA, A 1,560%)=

F1 SNSE Ssll == Eel2i= 10cH 2t

DESH0] AY ojojd S
2| 30%, X|ZHH] 202 B 1HY ZA(A 5,000% A)o=
guialg Waly| Sisl 2l ol




ZlZ AR I

TNMES [jAtoZ 200HS *'E'al-’."-ﬂ
302t(A 2,600~8,200%)2 E=E 51,
SMi=0| IE =X £ 25 ol Xt S20|A| x1g}o}0n|
== #oill MFR==S s 7l6ixt 58 EA

Hto] whx| 4117+ SH wo| 3,700280]  DEEHO)

X2 X7 2o olF 50%(SH0lE 2,600%)!
d2lgaes &l



MBC &SIEALH 2534 (3.13)



- 2| &= mfsl &S a2t 23
(5.1-25.30)

- 23 ISHE TS 29 HRHLZIT oA AT

= 011113* 85 1S 5Hof sk=X]?
=g Wisn| Aio| TS B $IH|(OIXNE RFSHALL,
7% £1HIE = 22

m 22 =2 x| S=rl= 0|QF =8l . FHut. 242 E2 'é’a}&’x'HLl
=2 dlaE Al2ho| 7HCIMEE QlE{Ul Sof wEE




mjsiols 23

SNS S 22t2! oilM= BEOIXIE(A 24%)E xsiAl Zilsk=
£H|(0]xhE B == LF= E97t BBz, ZotA =0
2R206IHEt: 028t 7=0f x| == +2

[He| Y= A= SIS e, S XEE + US| CHE
MEA ti2l=E siFALE HElR=E 0l8slX| $ES &



mjsiols 23

on

=oloj7 el o & Alo| E8 x| YiErin Maps,
4, CLIE 3 S2 SNSO REsH{2 s7ALH Hutate
HRHEZUY EE 0 MUH E28 23

0

AA
0| 37 =T EFH &Ho, +1b|(0xhE E AF= 8=




31 - HHA| HS - X|H

- A

HES HE
st ZAMo| AMHES QHO| 7ks5HH AAHFX| « StnFEH
=35 LA ALSHAF HE 1 12A|AEH S2 AADEYR| X2
=98 HSXX| 75

oin»2r T,

R4-ER

ZEA0| E44310) ZAS U 1f N2 0| LAEICH ol
NE JIXIE MLt 7o ZM B4 ks




31 - HHA| HS - X|H

- ietEE1EST BE XA

(StuZs - SHAES Lfah 23 QAR

Ljsh skl XIES ?loi AZLELESXIME(FEEE) A Wee
L

— =
HMS) ABMMAZEX|ME|(ADIEE « QIE{Y T}O|E)

OO0

A
o A
ASIREHIZHRRME Y 5S) 5 AlhE UEH o7 Jks







